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M: Excuse me. Can you tell me how much the shirt is?

W: Yes, it is nine fifteen.

TH A I

How much is the shirt?

[A] £ 19.15.

[B] £ 9.18.

[C] £ 9.15.

FRZHIMAE S 9 85 15 [+, Br MRERE[CPI, ARG E¥ HAR .
Answer: [A] [B] |

1. What do we know about the speakers?
[A] They are friends.
[B] They work together.
[C] They are meeting for the first time.
2. How much should a child pay for the performance?

[A] $2.00. [B] $4.50. [C] $8.00.
3. How will the speakers probably go to the hotel?
[A] By taxi. [B] On foot. [C] By bus.

4. What does the woman mean?
[A] She needs help with her exam.
[B] The man can use her bike.
[C] Her bike needs repairing.
5. What is the man’s choice?
[A] Denny’s. [B] Brown’s. [C] A Chinese restaurant.
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6. What is the man now?

[A] A University student. [B] A company clerk. [C] A businessman.
7. What can we learn about the man’s father?

[A] He is a college professor.

[B] He is strict with the man.

[C] He runs a company.
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8. What is the phone message about?

[A] Going to see a film. [B] Attending a lecture. [C] Changing a phone number.
9. Who is calling?
[A] Max. [B] David. [C] Dianne.
10. When will the class meet the following day?
[A] At 12:00. [B] At 16:00. [C] At 16:30.
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11. Where did Andrew find the money?

[A] In a phone box. [B] On his way to school. [C] Outside the newspaper office.
12. What did Andrew do after he found the money?

[A] Took the money to a nearby bank.

[B] Reported to the police.

[C] Looked for the owner.
13. What is true about Andrew?

[A] He sold newspaper.

[B] He worked as a radio reporter.

[C] He worked part-time before class.
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14. Where are the speakers?

[A] On a plane. [B] On an airport bus. [C] In the waiting room.
15. What made the woman so worried at the beginning of the conversation?

[A] Her brother had an accident.

[B] She would be late for her flight.

[C] She missed the bus to the airport. -
16. Why does the man say you waste time waiting around doing nothing?

[A] You may get to the airport too early.

[B] You may spend a lot of time traveling to the airport.

.6 -
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[C] You may wait for some time on the plane before taking off.
17. What is the weather like that day?
[A] Rainy. [B] Fine. ~ [C] Cold.

rFE—REE,EEE 18 220 @, RERE 15 B EREX=/NE,
18.Where does the speaker work most of the time?

[A] At the library. [B] At a college. [C] At his home.
19.What does the speaker say about his plan in the future?

[A] He may keep up writing books.

[B] He may travel around the world.

[C] He may do something different.
20.What does the speaker do besides writing?

[A] Give talks to people interested in his work.

[B] Work part-time in a library.

[C] Type letters for other people.
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M: Excuse me. Can you tell me how much the shirt is?

W: Yes, it is nine fifteen.

e e

How much is the shirt?

[A] £ 19.15.

[B] £ 9.18.

[C]1£ 9.15.

HRZEUAE N 9 85 15 1, B MRIERR[CPI, JFAE 4 R AR
Answer: [A] [B] ||

1. What does the man mean?
[A] He doesn’t have a ticket.
[B] He doesn’t like volleyball.
[C] He is not invited to the game.

2. What time is it now?
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[A] 7:50. [B]8:10. [C]8:30.
3. Why didn’ t the woman answer the phone?

[A] She was too tired to answer it.

[B] She worked late at the office.

[C] The phone was out of order.
4. What will the woman do tomorrow?

[A] Get an important job.  [B] See someone for a job. [C] Attend a meeting.
5. What is the man probably going to do?

[A] Change parts of the paper.

[B] Rewrite the whole paper.

[C] Type the paper again.
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6. Where are the speakers?

[A] At the airport. [B] At home. [C] In school.
7. What does the woman say about the weather in California?
[A] It s quite cold. [B] 1t’ s sunny and warm. [C]1t’s very changeable.

8. What do we know about the woman’s mother?
[A] She is good at packing.
[B] She likes to live in California.
[C] She travels with too much luggage.

WTE—BXE,BEEI ZE 11 &, WERE 15 PR ERIEX =/ /N,

9. Where does the woman probably come from?

[A] Britain. [B] Poland. [C] Spain.
10. What does the woman think of the Spanish people?
[A] Not polite. [B] More serious. [C] Not hardworking.

11. What has surprised the woman about British people?

[A] They are not so polite as she thought.

[B] They don’t treat others as true friends.

[C] They don’ t use many polite words as expected.
WTFE—RIE,BEE 12 £5 14 B, WERE 15 HPPRREFERIEX =4NNE,
12. Who did the woman talk online with?

[A] Her boyfriend. [B] A stranger. [C] A co-worker.
13. What does the woman think about knowing people online?

.8
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[A] It’ s easy to talk about personal matters.
[B]1t’s a good way to kill time.
[C]1t’ s quick to get information.
14. What did the woman share with others on the computer?
[A] Things to see in New York.
[B] Personal information.
[C] Likes and dislikes.
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15. What were the Wright brothers trying to do in the first place?
[A] They wanted to attract public attention.
[B] They tried to become skillful at flying.
[C] They wanted to test their kites.
16. What did some people think the Wright brothers were doing?
[A] They were playing with kites.
[B] They were doing something dangerous.
[C] They were doing scientific experiments.
17. Who felt curious about the Wright brothers?
[A] Children. [B] Women. [C] Men.

rE—RMA,EESE 18 EE 20 M, MERE 15 FHraE REEX =1/,
18. What does the speaker mainly tell us about?
[A] Music in Scotland. [B] Art events in the UK. [C] Music industry in London.
19. What must singers do to become popular among the Scots?
[A] To attend art events in Edinburgh.
[B] To produce records in London.
[C] To perform in bars and cafes.
20. How does the speaker feel the last 10 or 20 years?
[A] Encouraged. [B] Worried. [C] Unsatisfied.
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M: Excuse me. Can you tell me how much the shirt is?

W: Yes, it is nine fifteen. ’
A LI

How much is the shirt?

[A] £ 19.15. :
[B] £ 9.18. |
[C] £ 915. |
L RN R 9 B 15 M BT AMRIERE(CPI, AL R ILhRH

i Answer: [A] [B] |

‘ Ban B ARA S BRI a1 I BB, PRI E] .
1

1. What’ s the woman’ s problem?
[A] She is too tired to open the door.
[B] She can’t open the door herself.
[C] She can’t find the key to the door.
2. How much does each ticket cost?

[A] £ 3.70. [B] £ 4.70. [C] £ 740.
3. What are the speakers talking about?
[A] Cooking. [B] Shopping. [C] Word games.

4. What was Professor Carter’ s suggestion to the students?
[A] Be careful with their handwriting.
[B] Wait until the class is over.
[C] Finish their work ahead of time.
5. What is the actual color of the skirt?
[A] Blue. [B] Green. [C] Yellow.
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6. What is the man?

[A] He is a shop-assistant.

[B] He is a computer technician.

[C] He is a trade show organizer.
7. What’ s the woman’ s problem?

[A] She found it difficult to fix a cup-holder.

[B] She broke one part of the computer.

[C] She couldn’t drive to the shop.
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